# Division with Partial Quotients Name:

Solve each problem. Answers
1) 21 41 2) 71 497 3) 3| 745

9 2] 16 9 2[31 % 3| 900 ’

0 3| 916 8 2|64 9 9|22

1-9 |89]|78]67[56]44[33[22[11] 0 |
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Division with Partial Quotients Name: Answer Key
Solve each problem. Answers
D 2| 41 2 7| 497 3 3| 745 . 20r1
-40 20 -490 70 -600 200 '
1 7 145 2 71
-7 1 -120 40
T o Y 3 248 r1
-24 8 4 8
1
5. 15r1
6. 300
7. 305r1
9 216 9 2] 31 6 3] 900
ﬁ 8 ﬂ 10 & 300 8 32
0 11 0
10 5 0. 2r4
1
) 3| 916 8 2| 64 9 9| 22
-900 300 -60 30 -18 2
16 4 4
-15 5 -4 2
1 0
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1-9 |89]|78]67[56]44[33[22[11] 0 |
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Division with Partial Quotients

Name:

Solve each problem.

Answers

( 2%u

248 r1 15r1

D 2|41

9 2|16

71 300
2 7| 497 3 3| 745

6) 3| 900

5 2|31

M odified
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